
A typical human-computer interaction based on NLP might go as follows:

6. The machine plays an audio file in response to the human

1. The human says something to the machine

5. The processed data is converted back to audio

3. The captured audio is converted to text

2. The machine captures the audio

4. The text’s data is processed

I. Help Harish to arrange the following NLP processing statements in proper order.

Worksheets

II. Help Navya to write down names of  applications of  CV.

.................................................. .................................................. ..................................................

.................................................. .................................................. ..................................................
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